RELEASE STATUS

Production
] L5
fe————— (23.95) ——————————=
(2.71)
. {
2 2 o,
(] (] (] (]
- .0. |
] o
(36.66) o0d 9
L] L] [ ] L]
o [ ]
° o
o o
° o
o o
° o
o
o o
o 3 .o.
° ° <
L'
6 SA 28625X P-MOUNT TOP, TEL. CHIMNEY, 24W x 45D |
5 MA 20573X ASSY, PANEL, BRUSH TOP - 30"W X 45"DP 2
4 CP 89811 A-K SERIES REVNUT 10-32 16
3 CP 81442 10-32 PHILIPS SCREW 8
2 CP 66714 SCREW, PAN HEAD SWAGEFORM 4
| CP 54348 SCREW, 1/4-20X1/2 HEX WSHR HD 4
SHIPPING WEIGHT: 12 POUNDS ITEM | TYPE | DOCUMENT # DESCRIPTION o1y
CAGE NUWBER.  JORIG EPR: EPR133904
THIS END TOWARD FRONT OF CABINET WA A | g 1824 [ B Woegiio 03726113 F:T-N
IK%OE’EE"TEEE ‘cl’(:,‘,}gﬁfﬁ:?,,:'}‘:,'{"ﬁiu DRWN. BY MOuaglia 03/26/13
10 THE. INTEREST OF €A TON CORPORAT 10N DES‘EN MGMI SITE: PESEO(;RP - P-MOUNT TOP, TEL. CHIMNEY, 24W x 45D
orcester N -
: WGLE PROJEET IO U,_{gxggiggggz., MATERITAL: g?iEgA - SHEET. 1 Of 2 REV DATE. ___01/11/13
B | 07/11/13 | MQuaglia |CHANGE QUANTITY OF 87442 T0 8 (FROM 16) N130198 m R O e v
REV | REV. DATE REV'D BY CURRENT REVISION DESCRIPTION ECN OR EPR NUMBER o B8 m,,,ﬁ,'.!s'"gﬁm SPEC #]- D ‘JTPTC2445 REV B




DESCRIPTION ASSEMBLY NUMBER REVISION
Wright.line P-MOUNT TOP, TEL. CHIMNEY, 24W x 45D JTPTCZAAS B
- 07/11/13
NEM| PART | REV|FREVREN O N NUMBER A | rev DESCRIPTIONI DESCRIPTION2 oty PRODUCT GROUP VENDOR VENDOR P/ NOTES RELEASE STATUs | MAKE/| NEW
| MA JTPTC2445 1|8 P-MOUNT TOP, TEL. CHIMNEY, 24W x 45D - | - Production
SA 28625X 2 - P-MOUNT TOP, TEL. CHIMNEY, 24W x 45D - | 50 - Paromount Production
3| SM PHANTOM_28625X 3 | -PART HAS BEEN PHANTOMED DUE TO STRUCTURGEGBRNGECOULD BE USED TO CREATE MULTI-PART SUB-ASSEMBL (ES 50 - Paramount Production
4| CP 87482 3] - WELD STUD I1/74-20 x . 75" LONG I Production B
51 cp 54348 2| - SCREW, 1/4-20X1/2 HEX WSHR HD 4 Production
6 | CP 89811 2 | - A-K SERIES REVNUT 10-32 10-32 UNF, OPEN ENDED 16 42 - Linx AVK | INDUSTRIAL PRODUGAXS4-1031-130 Production B
T ( CP 87442 2 | - 10-32 PHILIPS SCREW W/PLASTIC WASHER 8 Production
8 | MA 20573X 2| - | ASSY, PANEL, BRUSH TOP - 30"W X 45"DP SPECIAL NETWORK PARAMOUNT 2 51 - Vantage VS2 Production X
9| SM 20571X 3| - PANEL, BRUSH TOP - 30"W X 45"DP. NTWK FOR SPECIAL DBL. WD. RECT. TOP CUTOUT I 50 - Paramount Production Mo X
10| CR 95746 3] - BRUSH STRIP - 3" WIDE, NYLON 14.00" LONG 2 Multiple Association McMASTER-CARR Production M X
| ce 66714 2| H SCREW, PAN HEAD SWAGEFORM (OR EQUIVALENT) 4 Production | B




